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QUESTION 1

Which of the following statements regarding OSPF multi-instance is false?

A. OSPF multi-instance takes effect globally.

B. An interface of a router belongs to only a certain OSPF process.

C. Route exchange between different OSPF processes is similar to route exchange between different routing protocols.
D. Multiple OSPF processes can run on the same router, and they are independent of each other.

Correct Answer: A

QUESTION 2

You cannot set an aging time for the blacklist of the USG.
A. TRUE

B. FALSE

Correct Answer: B

QUESTION 3

Which of the following is the priority value of the DMZ on the USG?
A. 10

B. 50

C.75

D. 85

Correct Answer: B

QUESTION 4

By default, the cost of an OSPF interface is calculated based on the bandwidth. The formula to calculate the cost is
reference bandwidth/interface bandwidth.

A. TRUE
B. FALSE

Correct Answer: A
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QUESTION 5

Which of the following link efficiency mechanism can be used to compress RTP and TCP packet headers?
A. IPHC

B. LFI

C. PPP

D. All of the above

Correct Answer: A
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